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; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 1 000 ~ 646 6814 | =nLS | 000 ~ 546|173 9.24 Zzh s 1.00 | 5.00 ~ 5.97 6814 | =ns | 5.00 ~ 597 |1.73 9.24
2 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
Zhnst 1.00 ] 000 ~ 699 88.68 | #nls | ooo ~ 699]1.95 10.41 ZThLLst 1.00|5.00 ~ 941 88.68 | TnLS | 5.00 ~ 9.41 | 1.95 10.41
3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.90 87.42 | #hst | 000 ~ 690| 1.95 10.42 zh st 1.00 | 5.00 ~ 922 87.42 | #hst | 6.00 ~ 9.22|1.95 10.42
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 1000 ~ 723 9207 | #ndst | 0oo ~ 723|241 12.88 ZThLLst 1.00 | 5.00 ~ 10.00 92.07 | #nS | 5.00 ~ 1000 2.41 12.88
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 585 73.14 | =N | 000 ~ 585]223 11.94 zh st 1.00 | 5.00 ~ 9.95 7514 | =nS | 6,00 ~ 9.95| 223 11.94
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Zzhnst 1.00 | 000 ~ 765 97.99 | #0000 ~ 765] 228 12.21 zh st 1.00 | 6.00 ~ 10.35 97.99 | TnS | 5.00 ~ 1035] 2.28 12.21
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9 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZ S -~ — — —
LS 1.00 1 000 ~ 768 9848 | #nList | ooo ~ 768|246 13.14 zhst 1.00 | 500 ~ 1152 98,48 | ENS | 5.00 ~ 11.52| 2.46 153.14
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zhnst 1.00 | 238 ~ 1016 100.00 | =ndst | 0.00 ~ 1016| 2.61 13.96 zhst 1.00 | .00 ~ 1067 100.00 | =nst | 65,00 ~ 2206 2.61 13.96
17 100kN/m##8%%5| 1.00| 000 ~ 246 13846 |3ImEBZZ| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1057 ~ 2072 | 13846 |3m%E#BZ3 -~ — — —
zhnst 100|246 ~ 1024 100.00 | ThLS | 000 ~ 1024 2.77 14.82 zhst 1.00 | .00 ~ 1057 100.00 | =nst | 600 ~ 2072 2.77 14.82
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zh st ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ Zh st ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zhst ~

iy
H
|



